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sinx = ++1 — cos?x
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cosx = ++ 1 — sin?x
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sin2a = 2 - sina - cosa

cos2a = cos’a — sina
cos2a = 2cos?a — 1
cos2a = 1 — 2sin*a

sinx cOSX
ctgx =

coSx sinx
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sin(a + p) = sina - cosp + cosa - sinf
sin(a — B) = sina - cosf — cosa * sinf
cos(a + B) = cosa - cosP — sina - sinfs
cos(a — B) = cosa - cosf + sina - sinfs
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sina + sinfl = 2 - sin B cos B
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sina — sinfd = 2 - sin cos —
a a—pf
cosa + cosff = 2 - cos 5 cos—
a a—
cosa — cosff = —2-sin 2 ﬁsin > B




